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Note

Bkl

MAR - 14223/11—B

Sociology

Paper II

THISTIME
P9aeRT 11

Time Allowed : 120 Minutes]
: This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U STed. T YA e

: I YETURARHE] THU FIAR (100) TgIART YA el Sed. Yoo YAl g (2)

Who opines that “Laws are actually
codified mores” ?

(A) E. Durkheim
(B) W. G. Sumner
(C) G. Arnold

(D) B. Malinowski

Which of the following states does
not have water wetlands ?

(A) Punjab
(B) Gujarat
(C) Haryana
(D) Rajasthan

Who among the following held the
view, “Marriage is rooted in the
family rather than family in
marriage” ?

(A) G. P. Murdock

(B) E. A. Westermarck
(C) C. Harris

(D) L. H. Morgan

" T IS § Wiehfdaeh lshidl 2Ted
Y HIUME Hd M ?

(A) 3. ST@EA

TTATeAeh! T SaTd T0Tes STTaAT
3Meeed ATGa ?

(A) 9T

(B) TSHIA

(C) Bftamm

(D) TSEI™

" opgarl WeHe foarea YA foemar
MesH e STHa,’’ 3T @eferient
HUME T AR 2

(A) St . wWets
(B) 3. T SR
(C) . &g

(D) TA. TH. A
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‘Tharwad’ is ....ccccccueeeen. .

(A) A kind of extended family
(B) A kinship usage

(C) A rule of residence

(D) A community

Customs are also called as ........... .
(A) Folkways

(B) Mores

(C) Laws

(D) Values

For Marx the mode of production

refers to .....coeeuen.n.... )

(A) A combination of means of
production and forces of

production

(B) A combination of means of
production and relations of

productions

(C) The dynamics of relations of

production only

(D) The dynamics of means of

production only
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When more and more individuals
undermine marriage for procreation,
their orientation to sexuality can be

called ................ .

(A) Heteronormativity
(B) Same sex sexuality
(C) Hyper sexuality
(D) Plastic sexuality

Whose name is closely associated
with the concept “Development

Communication” ?

(A) Denis MacQuail

(B) Daniel Learner

(C) Robert Redfield

(D) Everett M. Rogers
Subculture refers to ................. .
(A) Ethnocentrism

(B) Homogeneity of values

(C) Counterculture

(D) Common lifestyle
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10.

11.

12.

Which one of the following is not the

source of identity ?
(A) Ethnicity

(B) Attire

(C) Sexual orientation
(D) Class

“Power is intimately linked to

knowledge.” Who said this ?
(A) Bourdieu

(B) Giddens

(C) Foucault

(D) Beck

Agency reflects in ................... .

(A) A student challenging caste
based discrimination in

university

(B) A youth stealing money for
drugs

(C) Daughter demanding dowry as
her right

(D) Mother-in-law’s power over her

daughter-in-law

10.

11.

12.
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13. Given below are two statements, one

is labelled as Assertion (A) and the

other as Reason (R).

Assertion (A) : Eviction of Slum
dwellers forces them to live in

precarious conditions.

Reason (R) : They are not properly

rehabilitated after eviction.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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14.

15.

16.

Every economy has three sectors.
Which sector has witnessed marked

growth in the last 25 years ?
(A) Primary

(B) Secondary

(C) Tertiary

(D) Welfare

What term is used to describe the
gaps between the living conditions
of some groups and those enjoyed by

the majority of a population ?
(A) Enforced poverty

(B) Culture of poverty

(C) Relative poverty

(D) Absolute poverty

Who argued that the nature and
dynamics of Indian agrarian
economy can’t be understood
without connecting it to the
imperialism ?

(A) H. Alavi and I. Banaji

(B) K. Marx and F. Engeles

(C) M. N. Srinivas

(D) A. Beteille

14.

15.

16.
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(A) Wi

(B) fedtae

(C) qdrah

(D) <isheheaTo
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17.

18.

19.

What is the researcher’s relationship

to the respondent in post-

structuralism ?

(A) Equal

(B) Superior

(C) Inferior

(D) Equal and dialogical

In which report the United Nations
introduced the term ‘Sustainable

Development’ first time ?

(A) Report on Human Rights
(B) The Limits to Growth

(C) Our Common Future

(D) Human Development Report

Empirical research is not research

basedon ....ccoeueeennnn.... )

(A) Evidence collected by systematic

observations from the field

(B) Ideas generated through

theorizing and conjecture

(&)

Studies that are realistic and

relevant to the social world

(D) On site database gathered by

the researcher

17.

18.

19.
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20.

21.

22.

Which of the following is a

characteristic of qualitative

research ?

(A) Objective

(B) Cause-effect linkages
(C) Value-free

(D) Subjective

Which of the following is a measure

of central tendency ?

(A) Mode

(B) Range

(C) Standard deviation

(D) Codification

Ethnography implies .................. .
(A) People are meaning makers
(B) Objective study

(C) Research on people

(D) Sociometry is the study tool

20.

21.

22.
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ETeTeTdeh! IV T[OTTCHS  FYN &

Sfyreesr e ?
(A) TES
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23. Match List I with the List II and

mark the correct answer from the

codes given below :

(@)

(b)

(c)

(d)

(1)

(2)

3)

(4)

List I
Central tendency
Dispersion
Correlation
Test of significance

List II
Mean deviation
Pearson’s coefficient
Median

‘P-test

Codes :

(@ B (© (@

@ QO @2 @ 3

B) @ G @ @

< 3 O @ @

M 3 @ @ @
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(@)
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(c)
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gy fage
[EESE I UIED
qeqieh

-

- -
.
.

(@ ®) © @
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24.

25.

26.

Which is the crucial feature of a good
sample ?

(A) Small size

(B) Representativeness

(C) Easily approachable

(D) Easy to study

The village Mendha Lekha in
Maharashtra is known for its ............ .

(A) Strong local self government
(B) Tribal art

(C) Empowerment of women

(D) Agricultural development

According to Toffler, the wake of the
arrival of the third wave human
social relations and the institutions

are experiencing .................... .

Consolidation in their social

(A)

relations

(B)

Disorientation in their social

relations

(C) Consolidation of their

primordial relations

(D) Consolidation of their secular

relations

24.

25.

26.
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AT AT Heweul afiTes &
e ?

(A) <BM 3R

(B) wfafferene

(C) ¥ush gAY

(D) T AN

TRl Hel oiel § ©e
et S
(A) T¥ER iR RS GRS
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27. Which of the following is a New

28.

29.

Social Movement ?

(A) The Backward Class Movement
(B) Peasants Movement

(C) Trade Union Movement

(D) LGBT Movement

Through social media false things
are proven as reliable and true by
the powerful sections. This is termed

as :

(A) Media management
(B) Cyber manipulation
(C) Misrepresentation
(D) Misunderstanding

Information revolution led to the

following change :

(A) Literary skills to mechanical
skills

(B) Decentralization of work away

from factories

(C)

Predominance of manufacturing

sector

(D)

Fordist organization

27.

28.

29.
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(B) IdHi o
(C) ¢S IMaT Fesdas
(D) UA. Sft. o 3. Tl

e Teieh e WIS HIEAHTHTR T
Tl Ml Siegl 9cd fuy faveea

N

WA g hedl S degl e
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30.

31.

Which of the following act of violence
has yet not been formulated into a
law ?

(A) Honour killing

(B) Domestic violence

(C) Sexual harassment at workplace
(D) Dowry practice

Given below are two statements, one
is labelled as Assertion (A) and other
as Reason (R).

Assertion (A) : Poor women are
both victims of environmental
degradation and active agents in

environment protection movement.

Reason (R) : The women are more

jeopardized than men.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are correct and

(R) is correct explanation of (A)

(B) Both (A) and (R) are correct,

but (R) is not the correct
explanation of (A)

(A) 1s true, but (R) is false
(A) is false, but (R) is true

(&)
(D)

30.

31.
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32.

33.

34.

Which one of the sustainable
development goals deals with the

climate change and its impact ?
(A) Goal No. 6

(B) Goal No. 8

(C) Goal No. 13

(D) Goal No. 15

Hindi movie ‘Ki and Ka’ is an
example of which of the following

concepts ?

(A) Androgyny

(B) Gender bending
(C) Gender roles
(D) Gender conflict

The ‘new’ about new religious

movement 1S .................... .
(A) New religion
(B) New action style

(C) New leadership

(D) Alternatives to the mainstream

religions

32.

33.
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36.

37.

..................... refers to a combination
of research methods adopted for

studying social phenomena.

(A) Ethnography

(B) Triangulation

(C) Ethnomethodology

(D) Positivism

Interview is not a .......ccccee.... .
(A) Simple two-way process
(B) Multilayered interpretation
(C) Complex tool

(D) Interpretation of silences and

pauses

‘Broad, overall evaluation of what is
knowledge and how it can be

studied’ is called ................. .
(A) Methodology

(B) Epistemology

(C) Positivism

(D) Ontology

35.

36.

37.
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e Reed FeIEd qeUdrean THarhen
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38.

39.

Positivism refers to ................ .
(A)
(B)
©)

Objectification

Positive attitude to research
An epistemological position
privileging neutral, objective
analysis

(D)

Integrated analysis of data,

theory

Research ethics aim at .................. .

39.
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W%ﬂﬁaﬁ ................... W W

(A) TEIHT

(B) GINYATHS oEUITE] ThRTcHh

(C) de®Y, &S fageioumen Hgw
QU AFHTHERITS T e

(D) degEm, fagia 9= TeTicaeh
faweroo

TINEAR  FfRTSE T FeqTa 3

T 3T

(A) Efficiency in research )
_ . (A) GINEATdE e
(B) Ethically sound decisions about B HeATE S
research ar frofg
(C) Justified research findings (C) gener 3 fewsl <o gelq
(D) Reduction in research budget (D) st o1d SeeTd HO
40. Which of the following is not | 44 O Wt IR faer R
indicated by a survey ? AR 2
(A) Collection of data and @A) i N o S
information about people living )
: : Hifedt i qe Eeher
in a specific area
(B) Undertaken for administrative (B) . A HHORIAT S8
as well as sociological purposes ST
(C) Collection of great deal of data (C) eiehrean Sfierictifesaes Hewrqof
about the lifestyles of people qeA™ Hehatd
(D) Used to study the dead and past (D) ARG ST T SATCIedT THTST=
society SIS SR
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41.

42.

43.

44.

Post-fordist organisation is

characterised by :

(A) Standardization

(B) Greater flexibility

(C) Assembly line production
(D) Centralization of labour

Hypothesis formation is not a part
o) SRS .

(A) Survey

(B) Positivist research

(C) Steps in qualitative research
(D) Policy research

Which one of the following does not

show commodification of rituals ?
(A) Mass Karva Chauth celebration

(B) Universal celebration of Sangeet

Ceremony
(C) Private worship of god
(D) Jallikattu
Which of the following does not

describe McDonaldization ?
(A) Efficiency

(B) Unpredictable

(C) Automated

(D) Calculability

41.

42.

43.

44.
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(B) TG THRY HEeRT0] o hio]
(C) <ar=il Yol @rsiqul 0l
(D) SifcTehg

WU IV HehSMeSISRT S J0
& ?

(A) HrHerHal

(B) SAYEFRIAH

(C) TerEfer

(D) UM OIS
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45. Depeasantization refers to .............. .| 45. fafsarem woS
(A) The declining of peasant (A) Vst ffed =raerR ==
practices .
(B) TIi-SeIRr=A faaehieniome 93ty
(B) The substitution of market
e
rationality in agriculture
(C) Expulsion of small producers (C) T ¥t SHT ST &
from the land
(D) Commercialization of agriculture (D) e SATARIHIO Bl
46. Which term is used by Karl Marx | 46, wiegoErct = gc,,:,q sfes geTidre
to describe the process by which the N PN o
dletd] goci=dl Hisndd YA enU4lXdlal
working class grows increasingly .

e [ N NI . faY )
impoverished in relation to the PICT I ST SIS ST '
capitalist class ? (A) 3=
(A) Precariat (B) et
(B) Pauperization .

(C) HrHTTeRLo
(C) Marginalisation
(D) Exploitation (D) e
47. Who argues that any consideration | 47. ‘&S ded foumma =@M qea=
of social facts without their value JedTicHeh ¥dch TN A 30 § STard
components is unreal ? g’ 3T IV FiauRA &t ?
(A) Radhakamal Mukerjee (A) THRTA TESH
(B) G. S. Ghurye (B) St wq. 4
(C) Irawati Karve (C) SUEdl ke
(D) M. N. Srinivas (D) T T sifemg
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48.

49.

50.

Which of the following is not the

characteristic of Disneyization ?
(A) Theming

(B) Hybrid consumption

(C) Merchandising

(D) Individual identity

What does Weber’s concept of zweck-

rational action involve ?
(A) Means-end relationship
(B) Habits of the actor
(C) Only means

(D) Emotions of the actor

The famous book, ‘The Moral
Economy of the Peasant : Rebellion
and Subsistence in South-East Asia’

is authored by .......ccceen...... .
(A) James C. Scott

(B) Partha Chatterjee

(C) D. N. Dhanagare

(D) Andre Beteille

48.

49.

50.
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WA IV feTeTEReE Sty
2

(A) Eneia Areuht

(B) Hehikd 394

(C) AR

(D) T AlesE
Ja IreAl SIHEA I hoqiaed

Y= FHEY Bl ?

(A) HEA e g™
(B) whcat= et
(C) haes |IEH

(D) A=A |l

‘T OIS SRATHT 31T T fugie ; e

U e 39 9IS ose uRE’’ @

J&iehTd o%lsh hIoT 7
(A) S/ Hl. e
(B) wed =il

(C) & T =R

(D) 3Tl sg
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51.

52.

What term is used by Durkheim to
understand “The totality of beliefs
and sentiments common to average
citizens of the same society forms a
determinate system which has its
own life” ?

(A) Division of labour
(B) Collective conscience
(C) Mechanical solidarity
(D) Organic solidarity

Match List I with List IT and select
the correct answer from the codes
given below :

List I (Author)
K. Marx
E. Durkheim
M. Weber
T. Parsons

List II (Book)
The Social System

(a)
(®)
(c)
(d)

(1)
(2)
3)
(4)

Economy and Society
The Poverty of Philosophy

The Division of Labour in
Society

Codes :
(@)
(A) 4
(B) 3)
€ M
D) @)

)
3)
(4)
(2)
(1)

(c)
(2)
(2)
3)
4)

(d)
(1)
(1)
(4)
3)

51.

52.
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" TR FHNA SO AR T
forgard & sirer=n TRy & T 3l iR
e 38, 5= Tk a3/ g™
3T, ! T STESH ShIvTd! F=1T SATaRat
AR ?
(A) sEfaYRTOR
(B) wHfgsh HEH[Iah
(C) At T
(D) Sifasws T
T 1 smfor At I Seeenn STfoT @t
fecien Aisharemyd Arg 3ar faer
et 1 (rEh)
. e
3. SIERH
TH. IR
AN EoE|
RIEUN | RS ED)
< e fafes
THRIATHT ST HrAed
(3) <1 dlemdl e frardrs!
(4) < fefgsa % oo’ 39 HEmEE!
Hehdich :
(a)
(A) 4)
(B) 3)
€ M
D) @)

(@)
®)
(c)
d)

(1)
2)

®)
3)
4)
(2)
(1)

(c)
2)
2)
3)
4)

(d)
(1)
(1)
4)
3)
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53.

54.

55.

Who wrote the book ‘Commodities

and Capabilities’ ?
(A) Amartya Sen
(B) M. N. Srinivas
(C) D. P. Mukerjee
(D) A. R. Desai

Which one is not the part of

ecological infrastructure ?
(A) Soil

(B) Flora

(C) Building

(D) Fauna

“Rules, social recipes, conceptions of
appropriate conduct used as a frame
of reference to act in social world”

is called ................ .
(A) Life world

(B) Stock knowledge
(C) Role-taking

(D) Indexicality

53.

54.

55.
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"FHHIES 3fve Hufacifes’ a1 q&wN
W@ HI ?
(A) =t 94

(B) W, T #ifvemw

(€) . . et

(D) T ¥R <EE
Eeiterient shivr TR arrgd
GLETE 9 A ?

(A)

(B) o

(C) Tt

(D) 9ot S

BRI EIS UG NBCTGIE I EREE S
e a emfor 3fea adafasaes

Heheudl A He o dlehe A AT el

22



56.

57.

58.

The emergence of creches for taking

care of infants is the example

[0) ST .

(A) Dysfunction

(B) Non-function

(C) Functional alternative
(D) Latent dysfunction

The Savage Mind is written

by ceeeeeeen. .

(A) Karl Marx

(B) Claude Levi-Strauss
(C) Harold Garfinkel
(D) Clifford Geertz

C. W. Mills’ concept of ‘Power Elite’
refers to a group of three elites

(A) Economic, Political and Military
(B) Social, Economic and Political
(C) Social, Military and Political

(D) Social, Military and Economic

56.

57.

58.
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T AT ehicssiT SUATHIS! TTe3UITeRI=T

A 3T T UM 3T AR ?
(A) FTRE

(B) 3tehrd

(C) FEH® T4

(D) 39 HIHM

fe ¥ee wge, & ol fafedt a1 2
(A) FTd TR

(B) *ife wi=d-L™

(C) Tee TRfthehd

(D) forTmhIE TieS]

. Ty, frew o=t ‘R sfere’ @

HehouHT diF A= SeeTfaseh e

(A) sfeish, Tstenta sfor Jfent
(B) WIS, aMfYfer ofifor Tsiehtd
(C) wrfSeR, dffeRt st TSRt
(D) wrIfSieR, SfFet emifor emifeen
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59.

60.

61.

Which feminist perspective focuses
upon the interconnectivity of
patriarchy and capitalism ?

(A) Liberal feminism

(B) Socialist feminism

(C) Radical feminism

(D) Marxist feminism

‘Because motive’ and ‘In-order-to

motive’ refer to .................. .

(A) Future and Present

(B) Present and Future

(C) Past and Future

(D) Past and Present
Hyperreality refers to .............. .

(A)

Social experiences that are more

than real

(B) Social experiences that are

unreal

(C) Social experiences that are
digital
(D) Social experiences that are

unbelievable

59.

60.

61.
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IOl SHART gieswE JEugaHd d
: R
H ?

(A) SERHEJART SdE

(B) THISIAE! Sidle

(C) SEAHadR! SR

(D) AR iR

¢

‘eTor Yo’ eTrfur =ETETer-g e’

(A) TEAETIET ATYeh TGO |TATTSIR
YA

(B) 3TORqe ¥ HHISeh A9

(C) 3Tt WMIS® 3TIvE

(D) stfavesda 38 M sT9a
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62.

63.

64.

65.

The personal laws governing people
of different faiths in India do not

include the matter of :
(A) Marriage

(B) Divorce

(C) Cohabitation

(D) Succession
Simulera is ........c......
(A) Image without original
(B) Digital image

(C) Virtual image

(D) Similar image

When was the National Environment
Awareness Campaign launched in
India ?

(A) 1985
(B) 1986
(C) 1987
(D) 1988
Which of the following is not the

structural feature of caste system in
India ?

(A) Purity and Pollution
(B) Hierarchy
(C) Segmental Division

(D) Occupational Difference

62.

63.

64.

65.
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TR fafay emi=n deem It

N\~ M N
EXUIRCIRERIENE °h|¢|<\¢|l‘-|®

I GHEY B AL
(A) faams

(B) wIeEh

(C) Hearisd

(D) &

(A) A THolelr gfq
(B) 3fehtd wfam
(C) swrE gfc
(D) FAA gfaH

TRA TS GATaonfasel  SrTEehd
faior ot A€ Sl gE w2
(A) 1985

(B) 1986

(C) 1987

(D) 1988

TTCAeTdeh! hIvd TRATT ST eee
LA Sfvrsed A ?

(A) Yol AT Ygo

(B) &vfl =

(C) TerAs faynrmo
(D) FEEfTes 9
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66.

67.

68.

Dr. B. R. Ambedkar’s solution for
‘Annihilation of Caste’ is .............. }

(A) Reservation in Jobs
(B) Intercaste Marriage
(C) Legal Action
(D) Social Reform

The function of the ‘Kula-ring’

among the Argonauts is :

(A) Status enhancement and
integration
(B) Distribution of special goods in

society

(C) To satisfy primary needs of the

members of society

(D) To

redistribution

satisfy the need for

What defines the life world ?

(A) The shared reality of everyday
life
(B) The life history of members of

society

(C) The world of norms, values and

institutions of society

(D)

The social world of behaviour

and activities

66.

67.

68.
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L. o, AR, SACSHIT S SERRI
S —

(A) Th{idie TR

(B) T foams

(C) HMERTR el

(D) WIS RO

STHTeq ALl qur=n ‘Hen-fo1’ 9 e
TS

(A) TSI= Haa 37T TehlcHd

(B) fa3re A= SuSTHE e faawo
(C) HHTSIIdel Te&r=1 afies TRt
T Lol

(D) AfSOXOT=AT TR oidl o]

SfiaAfavd Ul &1 ?

(A) AT Sferrdia arifae aree

(B) HHNIHOIA TSSI=T Sitoq-3iderd

(C) THNINS a9, T 3 Feer=
fova

(D) =dq emfor g amfse fava
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69.

70.

71.

Which of the following statements

appropriately explains Mannheim’s

idea of ‘relationism’ ?

(A) Knowledge and beliefs are the
products of socio-political

conditions

(B) Certain knowledge and beliefs
are true only in certain times

and places

(C) Certain knowledge and beliefs

are true beyond time and space

(D) Knowledge and beliefs are class

and nation determined

According to Durkheim in which
societies we can observe contract

law ?

(A) Industrial society
(B) Tribal society
(C) Rural society

(D) Small society

Which book is based on students’
notes from a course taught by

Mead ?

(A) Mind and Society

(B) Mind, Self and Society
(C) Presentation of Self in
Everyday Life

(D) The Philosophy of the Present

69.

70.

71.
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EcATeTdeh! wivd faema T8y It
HAgARTH! Shed garaqol fawg &d 2
(A) T 70T g A T Jmseh-
TSt TerdiqE Bid
(B) fafdre sigen anfor 9 7 fafite @vre
30 TI@IER HeF ST

(C) e iU hiesredtene forf¥ree srgen
T JE T 3d

(D) S 37 sigen =1 & S7for qLgan
[REIESIGGIG]

S{{QlléH ¢Ii‘°¢|l tl%f h{[{TcHSh shldql AT
HIE ASTHES g Iehdl 2

(A) siEnfier 9

(B) oTfeardt F|l

(C) THoT HHS

(D) B HAS

FRIT GEIh Hie fReheclca SN

formeaft TR shctean fequmer smeRer
A ?

(A) WS e HEmEe

(B) WiEe, Heh fve W

(C) VST 3F Toh 39 Tgdie dsh
(D) < frarar®r siw & Jeie
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72. According to Bourdieu, which

73.

74.

concept explains the ‘Mental or
Cognitive structure’ through which
people deal with the social world ?
(A) Field

(B) Cultural capital

(C) Habitus

(D) Agency

Who is associated with the concept

of “urbanism as a way of life” ?
(A) O. Lewis

(B) L. Wirth

(C) R. E. Park

(D) H. Lefebvre

T. H. Marshall’s idea of welfare

on the basis of citizenship rights

entails :

(A) Civil rights and political rights

(B) Political rights and social rights

(C) Civil rights, political rights and

social rights

(D) Civil rights, political rights,
social rights and economic

rights

72.

73.

74.
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S AT Al ATHITSToh ST @leh SAER

AR hidid 3T HFEESh o SIEHAH

G fave oM HeheuaT hivr ?

(A) &=

(B) WiEhfds e

(C) Feed

(D) e

TCIeTush! hio 7 oTaiem TS o
9 S S I et e ?

(A) 0. o=

(B) T, =

(C) . 3 W

(D) TH. AHeE

3. T, AR ATeAT ANTREh = gaehio

MYTRA AR A=A hed-d
3TAYq 3.

(A) A &% 9 ST &Fh

(B) USThia Bk o HMHISIh g

(C) AFTYH &k, USRI 8Fh AT
HTfler  8h

(D) R &Fh, USThA &Ik, TTATSIH

BFh Mol aTfefes gk
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75.

76.

77.

The globe trotting elites experiencing
food, clothing, aromas and spatial
features of distant places is termed

by Castells as ............... .

(A) Social spaces of Neoliberalism
(B) Spaces of flows

(C) Spaces of networks

(D) Floating spaces of elite

Castells refers to inequal access to

digital networks as .................. .
(A) Digital divide

(B) Network divide

(C) LT. Inequity

(D) Blackholes of marginality

In which year Domestic violence was

recognized as a criminal offence in

India ?

(A) 1975
(B) 1983
(C) 2005

(D) 2011

75.

76.

77.
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FTEEST AT SEX gEs fesur=ar

SIS qRIM=N o7, e, gard a

STIRTRICH SFITSITH Bcied] ST aTeT

(A) TISERHTARNT HMHESeh  TaehTI]

(B) YaTEra TSRSl

(C) IS 3Tl

(D) IS 0T TSR

FRZcT AR Hoar=an fasm  gefen

(A) 3T1E faumrof
(B) Gelel fasmoft
(C) wfecdt do= fasw ey

o haN

(D) TSRO FHouTfeaR

N e o

EACACE NN

TRATT hIvTcT asil SIEIE

TUEHIY YUY TU Ul ST el ?
(A) 1975
(B) 1983
(C) 2005

(D) 2011
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78.

79.

80.

Which concept is used by Habermas
to refer to “the conditions under
which social goals and values can
be discussed on a rational and
equalitarian basis to reach a

consensus” ?

(A) Undistorted Communication
(B) Social Action

(C) Symbolic Interactionism
(D) Disenchantment

What does ‘Archaeology’ mean in

Foucault’s writings ?
(A) Speech

(B) Action

(C) Discourse

(D) Value

Hawthorne experiments in Industrial

Sociology refer to ................ .

(A) Classical Management approach
(B) Human Relations approach
(C) Conflict approach

(D) Functional approach

78.

79.

80.
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“orelt ufifeerdt <a gmfee Sfese 9

el <@l dlfcheh o FHM TEIER HEd
Jq'’, IS STERHE
HIUAT HhedqT oIl 3TE 2

i N

A gl

(A) Afaqgeg gy

(B) qrHIfSIeh el

(C) UfderTcAesr ATaRfHIER

(D) yAfRE

b= ferediel * queweRmes ' =
ad wE ?

(A) 9o

(B) F

(C) gt

D) T

ST FHTSRTEAR A gfefd Wi ©

(A) STTYSTd Haeqde gftea
(B) WHel Hay gftesw
(C) wors gftesnM

(D) FEES ghehH
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81. Given below are two statements, one

81. el T fau™ et 3Ted. Jwdia Teh

is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : Family is a

universal institution.
Reason (R) : It is expected to

transfer sexual rights to the spouses

in family.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

gfaaed (A) 318 37T R HR (R)

3TTR.

faares (A) : hed & HEAh qEl

3TTR.

HRUT (R) : SISl oifiteh SRR

M IO weaTHe ST TR,

@eilel SehdiehTueh! seR I ol

- -
-
-

(A) (A) 37T (R) Tal seR 3TTed ST

(R) © (A) 9 Iy TqSRIT 378

(B) (A) =1for (R) S =l sIeR 3T&d, 9u

(R) § (A) = Irg TR &l
(C) (A) TR 3R 99 (R) I TR

(D) (A) = 38 907 (R) SR TR
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82.

83.

84.

Which of the following gases protect

us from harmful sun rays ?
(A) Nitrogen

(B) Ozone

(C) Oxygen

(D) Carbon dioxide

Which one of the following is not an
indicator of Human Development

Index ?

(A) Life Expectancy

(B) Education

(C) Level of Urbanization

(D) National Per Capita Income

Which view among the following is

the oldest ?
(A) Cyclical view of social change

(B)

Linear view of social change

()

Evolutionary model of social

change

Dialectical model of social

(D)

change

82.

83.

84.
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TCCTeR! hivral aTg ‘BTae | | fohton-
URE S EEU Al ?

(A) A

(B) 3T

(C) el

(D) S SERRES

o~

AN n NN oo
L[l Yenl nlVId HIAC] [denld [H
frestes A& ?

(A) SeHMAA 96

N ¢ ~
GQRllenld

(B) ferero

(C) AR Tl

N C

(D) TSR TR 3T

TR HIOTAT gitesha Fatd ST
;e ?

(A) GTISIeh aREdTen =i g

(B) gmHIfSIeh qRaceran T gfteshA

(C) HmHTfSIeR giad-Ta Schidare! Y&y

(D) ISR Uiadara gglcHes 9% g
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85.

86.

87.

Most of the states in India have their
distinct language. This is an example

of :

(A) Social Stratification
(B) Social Difference
(C) Hierarchy

(D) Inequality

According to Max Weber ‘class’ as
a dimension of economic power can

be understood through :

(A) Control over mode of
production
(B) Market situation and the life

chances
(C) Possession of property
(D)

Having a salaried job

Whose work on ‘Stigma’ led to

emergence of disability studies ?
(A) A. Schutz

(B) G. H. Mead

(C) T. Parsons

(D) E. Goffman

85.

86.

87.
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TRATATA SgaTeT TS = oTedl STeh
9o 3TE. € hIMA ST AW ?
(A) HHISeR &R

(B) WIS 9%

(C) ST

(D) forsm

‘i’ % enfYe wow afemor egA q
SHIMeAT SR FHSH ol Id’ S qa
A R :

(A) SHEATAT Ygdiar ==

(B) arefeerdt smfor Sferrdtar |eft

(C) HY= HIeTeh]

(D) TR A 30

WATAeh! ShIome sheteh ' 1 HeheaHos
fahaTTal STEIIAT=AT ISATH AT
THeerett 2

(A) 3T¢hs YH

(B) . wa. Hig

(C) 2fetshie urE

(D) 3fefm Tifweq
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88.

89.

90.

As per census 2011, the number of
disabled persons is the highest in

which of the following age groups ?
(A) 10-19
(B) 20-29
(C) 30-39
(D) 40-49

Who introduced the concept of

glocalization ?

(A) Ronald Robertson
(B) Martin Albrow
(C) Zygmunt Bauman
(D) Erik Swyngedouw

The only tribe which claims to be

vegetarian is :
(A) Toda
(B) Gond
(C) Bhil

(D) Santhal

88.

89.

90.
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2011 = STTIHTIR @ecdeh! Shivre
N [aV [ AL oY hd o
Aa4qlileldlet [den il el Adid st

A ?

(A) 10-19
(B) 20-29
(C) 30-39
(D) 40-49

ST R TR0 (Glocalization) =T
Hhouidl @ HUT wed et ?

(A) TAeS Teedd
(B) #wiféT srresi

(C) ferse s
(D) Thw e

EATCTUeh! ShIvIT AT STHI SRR

FEE Tl hid ?
(A) drel
(B) TS
(C) fua

(D) G
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91. The communities that are engaged

92.

in Internet to carry on public
discussions substantively with
sufficient human feeling in the cyber-

space is described as .................. .

(A) Cyber community

(B) Virtual community

(C) Epistemic community

(D) Temporal community

When agrarian stratification is
discussed we generally refer

/o S .

(A) Dominant caste

(B) Control over land

(C) Land alienation

(D) Rural poverty

MAR - 14223/11—B

91. IFHR STEHRRMHE S THGH FeLie]

TR el SoerHied St enadi

(A) TR TR

(B) MYl HHS™

(C) IHTIG HHH

(D) hifcish HHIME

92. Segl IV Foeh TR ==l i,
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93. Give below are two statements, one

is labelled as Assertion (A) and other

as Reason (R) :

Assertion (A) Usually
development projects lead to

ecological degradation.

Reason (R) : India needs big
development projects to become

super power.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are correct,
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

MAR - 14223/1I—B

93. el T faygm et 3Ted. e Th

gfaqred (A) e S gH %R (R)
TR
gfqureT (A) : FewrEReu o™
Teheur IR IR g
.

SHIUT (R) : HBRET SHUIEES RAT

Hioa faem Yeheur=] TS 2.,

@il HehdighlUeh! siel I fael.

- -
-
-

[a) ha

(A) (A) 2707 (R) St seR 3TRd ST

(R) § (A) 9 a9 &R0 318

o haN

(B) (A) =7for (R) <=t sIsR 3Ted, Ju1

(R) ® (A) 3 Irg TR0 A8l

(C) (A) R 38 W (R) T I 318

(D) (A) I% 3% Wg (R) T e 31
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94. Habitus does not focus on our ways 94. Feflew ey W3
[0) ST . eI
(A) Acting A) 7
(B) Feeling (B)
(C) Thinking ©
(D) Rejection of belief and values D) #§l 9 HeH TRRTAR
95. Which theory of exchanges as a | 95 S ST FEAERT I5d UM
structuralist method of studying ot s faga sfewen s 2
kinship relations is known as ? @A) T fasi
(A) Alliance theory - - -
(B) 9@ T&MHA THGId
(B) Group exchange theory )
(C) yay fafa fagra
(C) Direct exchange theory
(D) =% fagid
(D) Descent theory
96. Which one of the following 96. BIIICTIHT TTIHIAT= 961
statements about gender is not foem sRee T ?
correct ? ~ o
(A) FoATcIs Yo eme
(A) Is a normative disposition .. ~
(B) Wrhfqe Wad oTe
(B) Is a cultural construct
(C) “=fifw gt e
(C) Is a natural disposition
(D) It helps understand inequalities (D) ool SOLT SOl Heq
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97.

98.

Delay, before change in one part of
society produces realignment of the

other part is known as ................. .
(A) Cultural adjustment

(B) Acculturation

(C) Generation gap

(D) Cultural lag

Which of the following cannot be a
hidden curriculum of education
from the point of view of capitalist
society ?

(A) A curriculum that produces

subservient workforce

(B) That produces more integrated

and rebellious workforce

(C) That produces passive and

obedient workforce

(D) That encourages to accept

authority without question

97.

98.
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THISTTAT Tehl SEehTdid URedardiel ferais

T ST SHAT Seehldiel Tie JSad

RBUA el .

(A) TRfqs desiie

(B) THEHRT
(C) THerdia TR

(D) WiERfds gv=rT

qrEael FHSTAT e Mg JefieTdeh!
SHIVTAT AT SYAHFRH 3T Whd el ?
(A) JAEHH ST AR SRR

SRR Ao Sl

(B) A& S ek UehlfcHen ST

foger gmyet fato war

(C) faftsma smftr oT=nemy sttt fmfor
HLA

(D) 3ffgerT=arg wyd 9 fo=mar feodt

TR RUAE ScdsH <dl

38



99.

100.

What was the population of elderly

(60+) in India as per census 2011 ?
(A) 6.4
(B) 6.7
(C) 7.5
(D) 8.0
Given below are two statements, one

is labelled as Assertion (A) and the

other as Reason (R).

Assertion (A) : Political sub-

cultures are rarely homogeneous.

Reason (R) : There are significant
differences among the politically

conscious sections of society.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true,

but (R) is not the correct
explanation of (A)

(&)
(D)

(A) 1s true, but (R) is false
(A) is false, but (R) is true

99.

100.
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2011 =1 SUHTER YRS Ta%h
(60+) ciehged fhdl Bt ?

(A) 6.4
(B) 6.7
(C) 7.5
(D) 8.0

Tret §F faum ool oed. Th oTe
gfaaed (A) 71 g 38 &R (R).

YfauteT (A) : TS T SUEEH Farad

Tehfod] 3TdT.

SRUT (R) : TSThIAGEAT SIS HHISI-

FEhTHE HEUl HAWg STEdN.

a

oY LN N
JCINISESERIEIREA

T Sar e

- -
-
-

[a haN

(A) (A) 3707 (R) Sl SRIsR 3Ted 3o

(R) ® (A) = Irg TR0 38

-~

(B) (A) 2T (R) Sl sieR 371ed g
(R) B (A) 9 TR0 A

(C) (A) IR 38 W (R) § I 318
D) (A) I R R (R) T I 378
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ROUGH WORK
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